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  أن ���� ا����� ا����	� �

 ا���
	� ا���دي 
�	� ور�� ا������  ��ر �
 �%$# "�	! ا ��

  ) �01� 26(  ا�,+�"�ء : ا�(	ـــــــــــــ)�ـــــــ�ء 

�� ا
	���و��� �
�دة �� ��ة ����ات ا	��ت  ����Hi-Fiن ا	� �  �وأ01/.� -��ر (aigus)، أ!%�ه� ���ر أ!�ا�

 �2�34 �� H3IJ ا	����3 وهGا �� -�BC DEF ا	��اآ�@ �/� -?<= أ�> �� ا	;�وري أن (graves) %� 8�� 9أ!�ا�.�-G
 ��K�J�.�	ت ا�FL�/	�J @اآ���	ا MGه N/
�ت �>�Lت وو�3O�� N�� ي��F� Bوه �.���� B�	و��� ا���	
 lesا

filtres . ��K�J�.�	ارات ا�	ا BC �.I� ص�I� 9 ��K�J�.ت آ��ت ��آ�>�L�	ت وا�3O�/	آ� أن اU- �/� . MGه BC د�FIV
J �Vرا�	ت ا�  . <Y ا	�0�XK ا	;�ور-� ا	/���MG.J �W ا	/�آ�
 )RLC  )12  A01درا=� �#"#"�ت آ+�"�:	� �9 دارة ) 1(ا�4546ع 

  : �<��� ا	��آ�@ ا	�?�-@ ا	��	B وا	Gي -;8  
 =O�U� �	�� ــ�����	 E=12V   

�و��> E� Bــ ��!= أو�R=200Ω   
�cd ا	���ر e ــK  .  

 <�>V gO�� ــC  .  
 Bا�G	ا �.;-�F� =��>� �>�Lــ وL ���4ا�	ا ��و��.Eو�r   .  

I  CD,6ا� !�E ــ .  
� �Fj� ��kن �K�J gO�/	�2 . اF�	ا �I�t=0  ر��cd ا	��e c;�K 

 c1�/	ا BC(1)  . ز�.  �WVا�JgL�ا	�GJGب ذاآ�ا��F� B=  آ
�ت ا	����ات �IFI� N��uC(t)  وE  ��o	ا �	9�J . BC =�j	أ��2 ا

 �EC/�ا	ا �eر�	ا .  
��� ا	��آ�@  1��� N�� د��ــ  )�EC/�ا	ا �eر�	) ا ����	ا �I-�� ��uC(t)  BWJآ���3 رpJ را8V ا	�GJGب 	/<�J

gO�/	(1)ا   
� ا	����  2.EEF- B�	1��� ا�� ا	/�uC(t)  gOــ أو � ا	/<�د	� ا	�3FL لr4 .)1(   

)ــ  3 )
t

cu t A 1 e
−

τ
 

= − 
 

  ���1��د	� ا	�3>/�	 r� =O/� . أو � �<���يA  وτ  �	9�JC  وR  وE  .)1(  

4  �/�e ����   A .(0,5)ــ ��د ���
5 =O/� ذا�� ا	/�gO ؟  τــ �Fj	 ��
I	�J(0,25) ؟ ��J�O	ا MG8 هVا ��د �(0,25)>Jxا �	د�>� N�� د �<�/�ا��

 �  (1). و���.
6  �/�e ���� C=5µF (0,5)و�zآ� �� أن V �/�e<� ا	/�gO ا	/
�</= هτ .(1)  B ــ ��د ���
II  ��	E9 و� CD,J K��)� ــ  

 ��2 ��ر-0.F	 �I�t=0 c1�/	ا N	ر إ��cd ا	��e } رU� (2)  ����	ات ا��%� =?
� �E-�W	ا H3IJuC(t) BWJ�� ��J 
 =�j	ا NIFI/	ا N�� =�FIC gO�/	ا(II)  .  

1  �Jت ؟ ��=  �ا�JGJG	م ا�   (0,5)ــ �� ه� �2
   (0,5)  . وأ�
@ N��II <�/�e ا	�LT  =�j> ا	�ور  ���ــ  2
�وي ا	�ور ا	0�ص  Tــ �<��� أن �L> ا	�ور  3
-T0  Bا�G	ا Y-�F�	ا =��>� �/�e د��ت ، �JGJG�	L  .(0,5)   
� ا	����  4.EEF- B�	1��� ا� uC(t) (1)ــ أ��� ا	/<�د	� ا	�3
5  cV�	4/�د ا �  UCm  .(0,5)ــ ��د �� r4ل ا	/<�د	� ا	�3�1��� ا	/�Eار ا	/
Uول �
���J ــ  6� ��k ارة��	 ����	ا �e�W	ا .  
��e ا	����K  1ــ  6W	ا @
   . RLC . (0,5)	��ارة  0ξأ�

�I�t ا	��2F  2ــ  6 10T= ��e ا	���� 	�/�GJGب   W	ن ا���RLC t 0

2

3
ξ = ξ  ���0ξ �I� ��K��	ا �e�W	اt=0  . @
أ�

��e ا	W	ا �/�e; MGل هr4 3<�ل  �ل/J �>K���I�o	/�ة ا	(1)ا   . �IFj�	 �-��E	ا �/�E	ا ��I�Vواq  .(1) 
  

 ��Vرا�	ا �I
���K   ا	-o�3	<��م ا	ا BC �	�O	�3ض ا	ا        B3Vـ أ BJ�-xا �    08ـ  �07���-� !rح ا	�-
���K          ا	/�ة : ����J إe��8 أB3V                             ا	/
��ى -o�C م��� ��	�ر-�J ����O	ت : ا���V ��r�  

لمزيد من دروس و التمارين و الامتحانات ... موقع قلمي

www.9alami.com


2 

 

  
�91 ا��ارة Dا�4546ع ا�RLC  ���L0ا� �	8(ا�6�4ا� A01 (  

1  �	N�J ��4� �+	� �6� �J��� ��	Eف و�P� ــ .  
 �	�� BWJ�� ��J B	ا��	ا N�� @آ��GBF  و���E/	ذي ا Bو�x/�!= ا	اR=200Ω  �>�L�	وا

 Bا�G	ا �.;-�F� =��>�L  =�j	ا ���- �  .  (1)آ/
 ��/.� �>�L��	 ���4ا�	و�� ا�E/	أن ا �	�F	ا MGه BC ���>� .  

� ��BWJ ا	��I� �>�L ا	/�4= �J ����	ب اGJG�	ا gL�� �Jا�WV آ-�>�Y1  BWJ�� ��J ����	وا
 Bو�x/�!= ا	/�4= ا	ا �I�Y2  BC ���O//	ا ���IFI/	ا N�� =�FIC����j	اI  وII   .  

� ��BWJ ا	��L<� وا	/�!=  را8Vآ���3 رpJ  )1(��د ��N ا	������ ا	�j=  1ــ  1�J بGJG�	ا
 Bو�x1(. ا(  

� ��BWJ ا	�9�J �>�L	�  uLأ�p �<��� ا	����  2ــ  1�JL  و
di

dt
� ��uR  BWJ، و�<��� ا	����  �J

 �	9�J Bو�x/�!= ا	اR  وi  .)1(   
�  3ــ  1���j	ا BC ���O//	ا ���IFI/	ا ��J ��I  وII BK�J�.�	ر ا��-�L �Iة ا	��>� �� �� ا	/NIFI ا	Gي -/��� ،

i(t) .  �J1( ��=  �ا(   

� أن ا	����  4ــ  1�JuL  B	�N�� @��- :R ا	�j= ا	�
L

L du
u

R dt
= −)1(  

��= ا	�Y-�F ا	Gا� B	���L<� ه�  5ــ  1>� �/�e أن �� DEF�L=50mH  (0,5)   
�وب  RLCــ آ	�P�� Cف دارة  2��J ��4� �+	�"�J !	" �
�� �J����R ا��4ا�9 �


9 ؟	T   
 ��/.� ��k �>�L��	 ���4ا�	و�� ا�E/	أن ا �Vرا�	ا MGه BC ���>� . B	ا��	ا N�� @و��آ

�>�L�	ا (L=50mH)  gO�/	وا(C=0,5µF) Bو�x/�!= ا	وا(R=200Ω)و��>  وأ��������E�

�وب  ���GBF  B	� /�./�� وا	I�� ����J ارة�	ود اo- ���( ) ( )u t 40 2 tcos= ω + ϕ  ��FJ

�	�3	u(t)  pأن J(V)  Mو��ددN=1000Hz  ��2F�	ا <��L BK�J�.ر آ�، BC �/�C ا	�ارة ��

( ) ( )mi t I tcos= ω .  

�ذا ؟   1ــ  2/	 �
C ، ي�
e B��  م�2� BC � �� ارة�	ل أن ا�E� (0,5)ــ  
���C أم ��F-;�� ؟ ��=  �ا�J  2ــ  2Oارة آ�	(0,5). ـ ه= ا 
�ء I-�C= ، أو � �<��� ا	//��<�   3ــ  2jإ� N�� دا�  )R  ،r  ،L  ،C  ،N  .)1	��ارة 9�J	�  Zــ ا��/
���L BK>  (A)ــ -��j ا�������x   4ــ  2J�.ر آ�  .  I=20mAإ	N ��ور ��

uأ�
@ ا	�Wر  i/ϕ  ����	ر ا�du(t)  ر�
�� 	�jة ا	��I	�Ji(t)  .)1(  

�و�� ا	�ا ���4	���L<�  5ــ  2E/	ا ��I�Vــ ا  
U��Dت  :  ا�4546ع ا��T466(ا�( 

V 4لX �T4J ر�Y�1ا   

1  r�� ���� ــ(SE)  <	�d ����20=ℓ m   �2F	 BC ث�F� 8�t=0  <C�d BC � ��S  � �/	ا MGه �j�I�C ،
 =�F	ل ا�d . �2F�	ا �I� =�F	2.� ا� <���  =�j	ا =O/-t1=0,2s  ���M  MGه �I� � �/	ا ���E� c1��

 �2F�	ا . �WEI	ا =O/و�P  � �/	�4ة اU� أو �-�.� .  
  N��  .(0,5) ا	�F= ؟ ��= ا	?�اب �� ��d<� ا	/� � ا	/�j�Iة  1ــ  1
�ر ا	/� �  2ــ  1jا�� ���V @
  )1. (أ�
� ا	�I� =�F ��ور ا	/� � J 3ــ  1� �WE� آ��� �.e�%�
� B�	/�ة ا	ا ���.  .)1(  
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   )O�t2=0,4s  .)1= �2.� ا	�I� =�F ا	��2F  4ــ  1
�-� �3Lة ���ر �� �ت  ���� ����	�� ��دده�  Sــ ���O ا�ن ا	�Wف  2.IJ =�F�	 ν <C�d BC c;� �/I�J ،E 

���9�ص ا	/� �  �IWe .  
 �/�e أآ�� N�� <���ض �p�1 8 ��دد و�;��J =�F	ء اB;�νs=12,5Hz  =�F�	 ه�ي�� ge�� ه�ة�j� �� ��/� B�	ا  

�ره� �dل ا	�F= هλ  Bأ�
@ �e/�  1ــ  2jا�� ���V أن �  �dV=25m/s  .(1)ل ا	/� � ��/
�   �WE� ���>�P  2ــ  2� �>�� =�F	ا ��S  �C�
/	�Jd3=20m  ���>� � أو ،d3  �	9�Jλ  <�د	ا ��I�V8 ا� ،
n  ��J /��ا �ة	ا =�F	ا pEI	S  وP  c� ر�W	ا BC DCا�� N�� o�.� B�	واP  .(1,5)  

  )A01  12( ا�,	6	�ء 
I  س�	0" 9:� pHــ درا=� ��4ل آ	6	

 ��Jر��Vxا Y/� ���>-C6H8O6  �����د 	�اء ا	(C)  �3Fأو  ا	��3;�scorbut  <�وى�	د �-� � BC ��د �� .  و�;
�BC X4x ا	�3اآ> Jو ��K%�ا	/�اد ا	ا . ��K�� آG	� ��BC <>�I ا	/���0ات ا	��/��/- �إ�� ���L N= أ�eاص أو آ/

  . ���L N= أآ��س !%��ة
 N�� ي��F- �!�e @-G�500mg  </?� ل��F� N�� ل��F�	 ء�� �/Y ا��VxرBC ��J ا	/�V=200ml  <	و

pH=3,0  .  
3��= �/Y ا��Vxرc� ��J ا	/�ء  ــ أآ�@ �<�د	� 1� )��o� ب ��Jر��Vxا Y/F	(AH)  ( (1) 
   (1) .   ــ أ�
@ ��آ�o ا	/F��ل 2

 =��3��	 N�exم ا�E�	ا �/�e ��I�Vا =��3��	 B3!�	?�ول ا	ل ا�/>�V�Jxmax . )1,5(  
3��=  éq[+H3O]ــ أ�
@ ��آ�o أ-���ت اxوآ
�����م  3��	 BK�.I	م ا�E�	ازن وا��	ا �I�xéq .(1)    
� أن هGا ا	�3��= ��Fود  4�J (1). ــ  
5  =��4�رج ا	�3 ���>� pــ أ�Qéq  ازن��	ا �I� .(0,5)  
���J ا	��ازن xــ أ�
@ ��آ�o ا 6� �/�e ��I�Vازن وا��	ا �I� ل��F/	ا BC /� �دة	ا ��K�ا	/�ا��K  �ECاع ا	��/�

 =���د	� ا	�3>/	 .(2) 
II  4لR�J �	R]4J س�	0" 9:�  . ــ درا=� ��4ل آ	6	

 Bه ��K�� ا	��/�.�%�! ��.� Bز-� وه��ت ا	%Jو�j/	ا Y>J9ت و��j	ي وا�j	ا BC ��C�  .  C8H10N4O2: �� � ا	�
� ب .	 o��� p�
���	 ، ��jو��J g-�>� @
���ة �e ���C�� ا	/�اDC ب  Bا	�.;/F	وBH+  .  

 ��
� �c ا	/�ء ، �3��= ��Fود ، -I� ��I> أ-���ت ا	.��روآ��C�3��= ا	��HO-  .  
 H�E� ازن��	ا �I� </?� ���C���	 BK�  �C=1,0.10-2mol/l  N�� =�Fو��آ�F� ���!��V=1l  Mo��ل �

 ��	�1: ا	�E/� ا	�
éq 370 S cm. −σ = µ   . ارة�F	25در � ا°C  

� �c ا	/�ء  1ــ  2��C�
�</= ا	���ز ( أآ�@ �<�د	� �3��= ا	��B  وBH+  . ((1)  
�ت ا	.��روآ
�� BC ا	/F��ل . �./��  +�BH<��� ا	/�!��� ا	/�	�� اx-���� ل  2ــ  2��-x BK�.I	ا oآ���	د ا��(1,5).   
� BC ا	/F��ل  3ــ  2��C���	 BK�.I	ا oآ���	ا ��I�V(1,5). أ  

 BW>�  :2 1

HO
19 9mS m mol, .−

−λ   .  �I�25°C در � ا	�Fارة =

( ) ( ) ( )M H 1g mol M C 12g mol M O 16g mol/ , / , /= = =  

 8V9ا        ............................ @
I	8 ..............................               ا
E	ا................................... 
�ء -o�3	ا B��O	/��1ع ا	ا 
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�ء -o�3	ول اx/��1ع ا	ا 
 8V

@ .......................................          اI	8 ................................      ا
E	ا............................ 

 
 
 
 
 
 
 
 
 
 
 
 
  
  
  
  
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
  
  
  
  
  
  
  
  
  


